HAGS

Small Hexagon Trellice & Bottom Plates
MASW78980




/ (517 S18 (s19 (520 !
1 8008795 3x  Nut, Fujilok-M8-8-RingA2 0.01kg — 0 :
= < | | @ |
— [U__U) ' :
[26s] db
2 8008445 ﬁ 9x Screw, ISO7380-1-M8x30-10.9 0.02kg !
1 x 05
A A
3 8042809 ' 6x Nut, ISO7042-M8-8 0.01kg
‘/
S S,
4 SW100077 A\ 2x 680 x 600 x 50 4.30kg
5 8008813 6x Nut, cage M8-t=1.8-3.2 0.01kg
6 8008502 6x Screw, 1ISO7380-1-M8x20-10.9 0.01kg
7 SW81649 3x 580x170x 1173 13.98kg
Washer, Bolt cap 9x18x2-
8 8008849 ' 18X 1504759-3.C 0.01kg
° E@Playﬁowerinc Small Hexagon Trellice & Bottom Plates Rev: 2
agds ags.com
HAGS iseoncibi o MASW78980 14/M/23 2/5




MASW78910

3/5

Rev: 2
14/1/23

Small Hexagon Trellice & Bottom Plates

MASW78980

» © Playpower inc
HAGS \?/avg\fvhggsgcomm



Rev: 2
14/1/23

Small Hexagon Trellice & Bottom Plates

MASW78980

4/5



14/1/23

MASW78980

SmallHexagon

» © Playpower inc
HAGS' oo



